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SR 5% 1.02 2.38 A 1.36 0.11 0.36 A 0.25
1454 67k 4. 47 4.18 0.29 0. 47 0.39 0.08
20E4 T 3.61 5.47 A 1.86 0.25 0. 40 A 0.15
INFRE 3EA 8k 3.47 7.26 A 3.79 0.79 0.98 A 0.19
44 5% 6. 38 8.90| A 2.52 2.21 1.78 0.43
B SEEAE 105% 6. 47 10.90| A 4.43 1.08 2.48 A 1.40
644 115% 6.29 10.02| A 3.73 4.03 2.90 1.13
+ 14 127% 8.02 10.65| A 2.63 1.49 2.43 A 0.94
kg | 24EE 135% 7.46 8.97| A 151 2.18 1.46 0.72
S 147% 6.08 8.271 A 2.19 2. 14 1. 57 0.57
1454 157% 8.53 11.05| A 2.52 2.03 2.70 A 0.67
BETR | 284 167% 7.87 10.46] A 2.59 1.53 1. 88 A 0.35
3FHE 175% 8.91 10.85] A 1.94 1.08 1.84 A 0.76
SR 5% 0.85 2.49] A 1.64 0.29 0.34 A 0.05
1454 67k 3.58 3.91 A 0.33 1.11 0. 62 0.49
20E4 Th% 3.53 5.38) A 1.85 0.37 0. 66 A 0.29
INFRE 3EA 8k 2.90 6.31 A 3.41 1.55 1. 06 0.49
44 % 4.32 7.58] A 3.26 2.22 1.90 0.32
1’8 SAEA 107% 5.51 7.96| A 2.45 3. 30 2.89 0.41
644 115% 6. 64 8.69| A 2.05 3.13 2.74 0.39
+ 14 127% 6. 42 8.54) A 212 3.49 4.16 A 0.67
kg | 24EE 135% 6. 52 7.83 A 1.31 2.96 3. 48 A 0.52
SFAE 147% 6.77 7.42) /A 0.65 3.06 2. 68 0.38
14 157% 5.77 8.08 A 231 2.99 2.69 0.30
EEER | 28B4 167% 5.70 7.66) A 1.96 1. 46 1.98 A 0.52
ST 177% 7.21 7.83 A 0.62 1.19 1.72 A 0.53
(FE) « MR VR &1, PER - R - B BB U R B IR AR 0D | BT FEAR20% B DT,
- B R, MR - R - B B BEAE R E DI E AR D | L E R A20% L FOHE T,
o JE R = (SEH ﬁii B RRIEMENRT)/ & B RIEREKTE X 100(%)

_16_




